ENLARGEMENTS & REDUCTIONS Math 9
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a) What does the ratio mean?

b) Use the measurements of the scale model to determine the actual measurements of the
1959 Volkswagen Beetle. Express your answer in the most appropriate Sl units. Round
your answers as necessary. Actual length of the car is 6.4 cm and the actual diameter of
the wheel is 5.6 mm.
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ENLARGEMENTS & REDUCTIONS Math 9

Ex 3) Art students are making bags in their textile course. Their assignment is to make new
bags that are 60% of the size of the pattern shown, but maintain the original shape. What will be
the reduced measurements? The width is 26 cm, the height is 27 cm and the zipper length is 25
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27 X 0.0 = 1b 26

Ex 4) A canoe measures 15 cm in a diagram. How long is the actual canoe if the scale factor is
1:757 O
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